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’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiis = K - - -
9 100kN/M%#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiis = K - - -
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zzh st - = Kt - -| #hiist = K - - -
4 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiist = K - - -
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 5.69 71.14| ZhList 1000 ~ 569| 1.88 9.52 ZznLst 1.00f 500 ~ 6.62 71.14] Zhist | 500 ~ 6.62| 1.88 9.52
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.26 9245 Zh L4t 1000 ~ 7.26| 1.74 8.81 ZznLst 1.00f 500 ~ 9.28 9245 Zhist | 500 ~ 9.28| 1.74 8.81
7 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiis = ™~ - - - Zh st - = Kt - -| #hist = K - - -
8 100kN/mMZ#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiis = K - - -
9 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
zh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| £hiis = K - - -
10 100kN/mM%#8 % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.62 97.61| ZhLis |0.00 ~ 7.62| 2.05 10.34 ZnLst 1.00f 500 ~ 10.55 97.61| Zhlist | 500 ~ 1055| 2.05 10.34
11 100kN/MZ#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
zh st 1.00{0.00 ~ 6.38 80.28| #nList | 000 ~ 6.38] 2.09 10.58 ZnLst 1.00f 500 ~ 944 80.28| #nLis | 500 ~ 944 209 10.58
12 100kN/mM%#B % % -l -~ = —-|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 461 57.52| Zh L4 1000 ~ 461| 2.06 10.42 ZznLst 1.00f 500 ~ 584 5752 #hlist | 500 ~ 584| 2.06 10.42
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